MODERN EGITiM
DERSANELERI

0ss

KOKLU SAYILAR - 1I

MATEMATIK «onu kavrama

* Genel Maddrltk: Harrlyet Mh. Simbol Sk. No: 4 Bahgelievler/Istanbul Tel:0212 652 35 03
* Bageilar: Intntt Mh. Bagalar Cd. 27. Sk. Oztatli Center Mo: 1 B Blok Tel: 0212 634 35 26
* Bakarkdly: Istanbul Cd. Morstmbtil Sk. No: 1 Tel: 0212 570 40 08 + Sirinevler: Hirriyet Mhb. Sombol
Sk. No: 4 Tel: 0212 551 91 66 *lzmir Hilton: Gazissmanpaga Bulvann No: 2 Hilton Center Kat: 3
Tel: 0232 441 46 16 *Diyarbakir: Dicle Kent Bulvan Kurt Ismailpasa llkdgretim Okulu Bitigigi
Tel: 0412 252 45 B9 » Malatya: Fuzoli Cd, No: 14 Malatya Tel: 0422 331 77 81 - 322 23 53
* Gaziantep: Alleben Mh. Atattizk Bulvar Tugcan Oteli Bitigigi No: 40 Tel: 0342 232 52 37-38
* Kahramanmaray: Ismeipaga Mh. (55K Arkas) Gazeteci Ali Celik Sk. Haydarbey {5 Hani No: 10
Kat: 1-2-3-4 Tel: 0344 223 61 00 * Andunn: Cigekli Cd. Ziraat Bankas: Karsis Andinn/Kahramanmaras
Tel: 0344 561 37 0D www.meddersanesi.com
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